Punta Arenas

60 2019-07-03 to 2020-10-07
f N =950 S ;
Median bias = 0.0 g
40 Mean bias = 0.15 /
- SMAD = 4.83 . T
" . SD=6.08  Te
£ 20 , "
A
O
-
r 0
L . 7 A0
z ..
5 —20 510
§ i Lb ‘, | M |e
_40 7%
:i: * —— y=1.07*x-0.66
— y=1*x+0.15
0060 —40 —20 0 20 40 60
Reference HLOS [ms™1]
Punta Arenas
60 2019-07-03 to 2020-10-07
' N = 356 “ _
— Median bias = 0.15 L F % ;}'-
T 40/ Mean bias =0.16 v T
" SMAD = 6.85 \ :
é ~ SD=28.26 [ |
~ | |
o 20
—
T
S O
D |
>
~ —20- B 1 O
E Rayleigh
O ¥
), —40‘ I
< Ty —— y=1.05%x+0.41
' — y=1*x+0.16
0060 —40 —20 0 20 40 60

Reference HLOS [ms™1]

Punta Arenas

60 2019-07-03 to 2020-10-07
f N = 999 ‘ *
Median bias = -0.31 |
40 Mean bias = -0.09
- SMAD = 5.29
" \ SD = 6.39
£ 20
0p)
O
-
I 0
.9
>
20 B11
2 Mie
<_40
—— y=1.09%x-0.91
_ — y=1*x-0.09
%060 —20 —20 0 20 40 60
Reference HLOS [ms™1]
Punta Arenas
60 2019-07-03 to 2020-10-07
N = 339 “ | b
— Median bias = 0.66 T 1Y 0%
T 40/ Mean bias = 0.34 e Fgn T
n SMAD = 7.05 v Ty RIS
é \ SD = 8.87 2 |
—
T
S O
kS |
> ¥
~ —20- —H Bll
E Y. Rayleigh
o —40 Iy
< A —— y=1.06*x+0.26
f — y=1*x+0.34
6060 Z20 -20 0 20 40 60

Reference HLOS [ms™1]

Leipzig
60 2019-07-19 to 2020-10-02
f N = 1238 ‘ Lot
Median bias = -0.44 oY YL S
401 Mean bias = -0.03 LT B ;’
— SMAD = 4.65 vvvvv ‘A‘«i:u, 2
" k SD = 5.29 JEdty
£ 50, B
op
O
-
r 0
D
=
5 -20 B10O
0 Mie
<_40
— y=0.96*x-0.49
— y=1*x-0.03
—60 . . | |
—-60 —-40 -20 0 20 40 60
Reference HLOS [ms™1]
Leipzig
60 2019-07-19 to 2020-10-02
N = 1594 “ | vl
— Median bias = -0.23 ‘ -
i 40 Mean bias = -0.18 ; '_
v SMAD = 5.76 |
1S . SD =6.67 |
2 |
o 20
-
T
S 0
B
>
x —20
E i Rayleigh
O
v —40
< — y=0.99*x-0.09
—— y=1*x-0.18
—60 . . | |
—-60 —-40 -20 0 20 40 60

Reference HLOS [ms™1]

Leipzig
60 2019-07-19 to 2020-10-02
f N = 1367 \ vl 3 )
Median bias = -0.29 y 1§
40! Mean bias = 0.17 Y
o0 SMAD = 4.57 7
i . SD=5.35
£ 20
0p)
O
—
T O
K
=
20 B11
0 Mie
< _40
—— y=0.96%x-0.24
— y=1*x+0.17
—-60 —-40 -20 0 20 40 60
Reference HLOS [ms™!]
Leipzig
60 2019-07-19 to 2020-10-02
 N=1654 | AR I
_ Median bias = -0.29 ! o 'ﬁk |
T 40/ Mean bias = -0.04 | o Tee eI ¢
Y SMAD = 5.82 AR REOLY 2045 2 R
& .~ SD =6.92 {70 ik A ﬁ I
1 Vb . i
503 O _ 'fi“
@ 'v#: i |
> NS /4 X% || Y
S _20 prme T Bll
5 i - Rayleigh
e
v —40
< —— y=1.0%x-0.11
— y=1*x-0.04
—-60 —-40 -20 0 20 40 60

Reference HLOS [ms™1]





